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EXPLANATIONS

11 A, = JAZ+A] = (3T, 47=5A 118 m:z,mic,
1.2 The meter will read during positive half for

half-wave rectifier. Now 2 = J%

V, 4 04 a
1n=;E_='I'I!]nK-T.mJ"L = JE—Z;JE ;
Hence none of the answer is correct as current is = m *Zc
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given in A and not in mA.

A short eircuited line of length A/4 shows
infinite impedance at the other end, hence the
current is zero.

Ver = Ve * Ven
As V., isinereased, V. is pushed to the negative
region, [_ start even from the negative region

and transistor operates in the reverse active
maode.

Proeed = P in the active region.
In the saturation region [, is less then [i_.

Since delay has to be of finite number of clock
pulses.

Flash type 1 1, where 1 is clock period.
Counter type (2" = 1) 1=4095 j sec.

lnte-g;nti.ng type > 4095 | secs.
Successive Apporximation type nt=12 p secs.

1
Response cut-off resonance, A, = W

where y= — - Yy
H}R L
o= frequency.
So the first detector gives some image rejection
which may be sufficient at low tuned
frequencies. As this may be insufficient at high

frequencies, RF stages may be added.

1.19 Polarisation mismatch means that if the wave is
left cireularly polarised, the antenna is right
circularily polarised and power transier is 0.

1.20 Charge enclosed by the cube,

Q=dnx1®x10=40n

Q d40n
_ I S . L m*
Area of one face 100 Azl
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23 In steady state, capacitors are open and
inductances are short.




